Electronic Locks

VingCard Allure is a highly innovative electronic locking solution with a
unique, flexible design and more features available in a locking system than
ever before. Created with the elegant designer in mind, the concept and
technology is refined, contemporary and intuitive.

ASSA ABLOY

ASSA ABLOQOY is committed to
providing products and services
that are environmentally sound
throughout the entire production
process and product lifecycle. Our
unconditional aim is to make
sustainability a central part of our
business philosophy and culture;
more importantly, integrating
sustainability into our business
strategy. The employment of
Environmental Product
Declarations (EPDs) will help
architects, designers and LEED-
APs select environmentally
preferable door openings.

ASSA ABLOY will continue our
efforts to protect the environment
and health of our customers and
end users, utilizing EPDs as one
means to document those efforts.



VingCard Allure

Door Hardware

ASSA ABLOY

EPD PROGRAM AND PROGRAM QPERATOR
NAME, ADDRESS, LOGO, AND WEBSITE

GENERAL PROGRAM INSTRUCTIONS
AND VERSION NUMBER

MANUFACTURER NAME AND ADDRESS

DECLARATION NUMBER

DECLARED PRODUCT &
FUNCTIONAL UNIT OR DECLARED UNIT

REFERENCE PCR AND VERSION NUMBER
DESCRIPTION OF PRODUCT APPLICATION/USE

PRODUCT RSL DESCRIPTION (IF APPL.)
MARKETS OF APPLICABILITY

DATE OF ISSUE

PERIOD OF VALIDITY

EPD TYPE

RANGE OF DATASET VARIABILITY

EPD Score

YEAR(S) OF REPORTED PRIMARY DATA
LCA SOFTWARE & VERSION NUMBER
LCI DATABASE(S) & VERSION NUMBER

LCIA METHODOLOGY & VERSION NUMBER

This PCR review was conducted by:

This declaration was independently verified in accordance with ISO 14025: 2006.
X EXTERNAL

O INTERNAL

This life cycle assessment was independently verified in accordance with ISO

14044 and the reference PCR by:

LIMITATIONS

https://www.ul.com/
https://spot.ul.com

UL Environment 333 Pfingsten
Road Northbrook, IL 60611

General Program Instructions v.2.4 July 2018

ASSA ABLOQY Global Solutions
P.O. Box 70340 (Klarabergviadukten 90) 107 23 Stockholm, Sweden

4789027809.109.1

VingCard Allure Electric Locks; Functional Unit: 1 unit (piece) per 75 year building lifetime
UL Part B: Builders Hardware EPD Requirements, Version 1.0, November 2019
ASSA ABLOY Global Solutions products are primarily used In hospitality settings

25 years

Global

April 1, 2020

5 Years
Product-specific
N/A
Cradle-to-Grave
2016-2017

GaBi 8.7

GaBi thinkstep database, Service Pack 35
TRACI 2.1; CML 4.1

UL Environment

PCR Review Panel

epd@ulenvironment.com
1] )
ook T Yends

Grant R. Martin, UL Environment

Thomas P. Gloria, Industrial Ecology Consultants

Exclusions: EPDs do not indicate that any environmental or social performance benchmarks are met, and there may be impacts that they do not encompass. LCAs do
not typically address the site-specific environmental impacts of raw material extraction, nor are they meant to assess human health toxicity. EPDs can complement but
cannot replace tools and certifications that are designed to address these impacts and/or set performance thresholds — e.g. Type 1 certifications, health assessments

and declarations, environmental impact assessments, etc.

Accuracy of Results: EPDs regularly rely on estimations of impacts; the level of accuracy in estimation of effect differs for any particular product line and reported

impact.

Comparability: EPDs from different programs may not be comparable. Full conformance with a PCR allows EPD comparability only when all stages of a life cycle have
been considered. However, variations and deviations are possible”. Example of variations: Different LCA software and background LCI datasets may lead to
differences results for upstream or downstream of the life cycle stages declared.

2 of 15



VingCard Allure
Door Hardware m ABI-OY

General Information

Products are manufactured by ASSA ABLOY Global Solutions. The manufacturing facility is located in Shanghai, China and
has an ISO 14001 certified environmental management system in place.

Product name: VingCard Allure

VingCard Allure is a highly innovative electronic locking solution with a unique, flexible design and more features available in
a locking system than ever before. Created with the elegant designer in mind, the concept and technology is refined,
contemporary and intuitive.

Based on our VingCard RFID locking platform, Allure includes a variety of wall panels that give designers freedom of choice
with a state-of-the-art, design-centric hardware and software solution. Allure integrates our most advanced contactless
locking solutions into its interior electronics, including Radio Frequency Identification (RFID) compatible locking technology.
It is also fully compatible with the Visionline online solution and ASSA ABLOY Global Solutions Mobile Access.

Additional features include:

- Wall-mounted panel with LED light information indicators

- Wall reader with customizable intelligence and functionality

- Stylish glass panels with flexible design options

- llluminated room number portion with 16 LED light themes inside panel for selection

- "Do Not Disturb" (DND) and Make Up Room (MUR) status

- Stand-alone solution for DND/MUR setting and status display

- Wireless communication between wall and door unit

- Online connectivity with Visionline Wireless (ZigBee) or Visionline Wired (PoE)

-Supports the latest RFID technology

-Supports Mobile Access

-Online compatible (Wireless and Wired)

-Case hardened full 1-inch (ANSI) throw deadbolt

-Panic release function — the deadbolt and latch are automatically retracted by inside handle for easy regress in emergency
situations

-Stainless steel parts for mechanical strength, corrosion resistance and attractive appearance

-Optional high security mechanical override cylinder

-Detailed audit trail: 2000 events in offline mode and unlimited events in online mode (stored in local server)

-RFID Specifications: - 13,56MHz technology - Compatible with the following standards: - ISO 14443 A (MIFARE including
Desfire) - ISO 14443 B - ISO 15693

- Also included in the impacts below are all optional add on components including the BLE Board, Zigbee End Node, and
Ethernet Lock Interface.

Environment 30f 15



VingCard Allure

Door Hardware

ASSA ABLOY

Raw Materials

- Extraction and
processing of raw
materials

- Reuse of products or
materials

- Processing of secondary
materials

- Generation of
electricity, steam, and
heat

- Waste management
from packaging and
manufacturing wastage

- Energy recovery and
other recovery
processes from
secondary fuels,
excluding previous
product system

Transport

- Transportation
for sourcing of
raw materials
Internal
transport

] -

Al. Raw Materials
Extraction and
Processing

R e e S

A2. Raw Materials
Transportation

———— e — == ——— — —

j o e e S e e e e e e A ey i i
§ \

I' | Manufacturing | I ! I 1

I |- Productionotancillary I I 1 I

1 materials or pre-products | 1 1 I !

1 - Generation of electricity, I 1 I 1
steam and heat from 1 |

1 primary energy resources | | | Distribution I | Installation 1 1 1

1 i;-:;f\:::::wp:cdesm 1 |= i ansportifiom I | - construction 1 Operational I | End of Life |

1 from secondary fuels 1 production gateto | | productwaste | | | Erarey Use I |- c1peconstruction

1 excluding those that are 1 central warehouseor || | - Waste . L 1< Genaflonior ] {manual process) I

i intermediate storage processing of el i

! ::srt‘jmmmus procuct | site, if relevant - product i :Iein-q“;hr d o ﬁzr’avr\(:::t:?r: :;ri:\) :

1 Emissions from the I |- Transport to the I packaging 1 Pa'dw;,e pwﬂ uets I |. c3wasteProcessing

1 combustion of secondary | | construction site I waste and N il '0'2 o 1 (considered, now !

1 fuels and waste used in 1 Storage of products, |} product waste 1 el | flows) |
the manufacturing including heating, during the batterlesrenuired - C4 Disposal 1

1 process 1 cooling, humidity 1 construction 1 overthgreferen:e I - (inert material

1 = Manufacturing of 1 control, etc. 1 process | service life ] landfilling) !

1 products and co-products | | Installation 1 1 |
Manufacturing of support

1 packaging, includingtheir | 1 I materials 1 I I

1 extdractmn. manufacturing | | 1 1 ] :
and transport;

I - A3 Waste management 1 I ! 1 |

1 from manufacturing 1 | 1 1

1 packaging and 1 1 1 1 1

1 manufacturing wastage " I 1 i i1

4
| I ST [ P R R | | Y P OR] | ST
A3. Product Ad. Product AS. Product B1-B7. Product Use C1-C4. Deconstruction,

Manufacturing Transportation Installation and Maintenance Transport, Waste

Processing and Disposal

ASSA ABLOY Global Solutions products are ideal for a wide range of applications including but not limited to hotel, marine,
education, hospitals, health care, multi-family, and workforce settings.

Material Percentage in mass (%)
Metals 85.31%
Plastics 2.79%

Electronics

11.89%

Other

0.00%

Total

100.00%

Environment

4 of 15



VingCard Allure

Door Hardware

ASSA ABLOY

For the declared product, the following technical data in the delivery status must be provided with reference to the test
standard:

Technical Data

Length 160 mm
Width 110 mm
Height 13 mm
Weight 133 g

RFID Reading Distance

10-30 mm (pending tag type and size)

Access Symbol

3 color LED backlight

Doorbell Button

Switch button with 2 color LED backlight

Room Number Backlight

16 color LED backlight (pre-defined, one selectable color at the time)

DND/MUR Status

3 color LED backlight

Operating Temperature

Indoor use only: 5-60 °C / 41-140 °F, non-condensing environment

Storage Conditions

0-70 °C / 32-158 °F: non-condensing environment

Material

Thumbturn escutcheon: Stainless steel, quality SS316. Handles: Stainless steel
quality SUS304.

Metal Finishes

Satin Chrome, Polished Chrome, Satin Brass, Polished Brass, Light Bronze,
Velour Nickel, US Antique Dark and Black Titanium.

Handle options in
standard range

VingCard standard handles and Valli & Valli designer collection handles.

Emergency opening
options

Optional mechanical cylinder.

Locking mechanism

Electro-mechanical locking mechanism located in the lockcase.

Door thickness

34 -120 mm/ 1,34 - 4,72 Inches.

System software

Visionline

Online compatibility

Wireless (based on ZigBee protocol) or wired (PoE/Ethernet) in Visionline.

Storage temperature

0-70 °C / 32-158 °F: non-condensing environment.

Tested operating
temperature

Tested from -25 °C to 70 °C ( -13 °F to 158 °F), according to IEC 60068-2.

Certifications

European EMC, LVD and R&TTE Directives

Fire approved according to EN 1634-1

Fire approved according to UL (timber doors and metal doors).
FCC/IC for US and Canada.

Mobile Access support

Reader with built-in BLE or mobile access board

Colors

Standard Black or White. Customized design upon request

IP Rating (Mounted)

1

Environment

5 of 15




VingCard Allure
Door Hardware ASSA ABI-OY

The specified product meets or exceeds the following standards:
- 13,56MHz technology

- ISO 14443 A (MIFARE including Desfire)

-1SO 14443 B

- ISO 15693

Products are delivered as a complete unit, inclusive of all installation materials and instructions. Product dimensions are:
160x110x13 mm.

Products are delivered in a cardboard box.

Methodological Framework

The declaration refers to the functional unit of 1 unit (or piece) of VingCard Allure, installed in a North American standard
building with an Estimated Service Life of 75 years, and having a Reference Service Life of 25 years.

Name Value |Unit
Functional unit 1 Piece, over 75 years
Mass 3.2 |kg
Conversion factor to 1 kg 0.3128 |-

Environment 6 of 15



VingCard Allure
Door Hardware m ABI-OY

This is a cradle to gate with options Environmental Product Declaration. The following life cycle phases were considered:

Benefits and
Construction . Loads B d
Product Stage Use Stage End of Life Stage* | -°29S Bevon
Process Stage the System
Boundaries
> e’ o _
S ° 2 - g = 18
g 2lg | =8 9 2 | 5| |8 |5 2 g5
2 1%&1]5 o| S8 sl | 2] € |6 c [BS| 5| 8| ® 8 g
© a 5 E = 5 = © © © < |= o 2 S E o o 1] o 8
= 7} S » S c 7} = o Y o 8| 5 |&=0 7] o g 2
o) c S |&E | EO =) Qo Q @ 8 |S535 & |eg| < a o x 2
o] © S | £ Q= £ 14 ol ElE= 5 & & o ) o ® 5
£ - % 8_ = 8 = [} [0} & 5 = o T = i &) 2 2
= =S |2 o8 = 12 ¥ |o© 218 ®© 3 0
© c |7} o [0} = x @
14 o = ) ) 12
|_
A1 A2 | A3 | A4 A5 B1 B2 | B3 B4 B5 | B6 | B7 | C1 C2 | C3| C4 D
X X X X X X X X X X X X X X X X MND

Description of the System Boundary Stages Corresponding to the PCR
(X = Included; MND = Module Not Declared)

*This includes provision of all materials, products and energy, packaging processing and its transport, as well as waste
processing up to the end-of waste state or disposal of final residues.

This product requires no maintenance over its reference service life.

The reference service life of the product is 25 years and the estimated service life of the building is 75 years. The
replacement life cycle stage (B4) considers two replacements of the products required to fulfill the 75 year estimated service
life.

Unit allocation was used to allocate all manufacturing inputs and outputs to the functional unit. This methodology was
chosen over mass allocation because the manufacturing process is largely an assembly process where each product has a
similar manufacturing intensity regardless of product mass. Use of recycled/secondary raw materials was accounted for
using the cut-off allocation methodology.

Environment 7of 15



VingCard Allure
Door Hardware m ABI-OY

Processes whose total contribution to the final result, with respect to their mass and in relation to all considered impact
categories, is less than 1% can be neglected. The sum of the neglected processes may not exceed 5% by mass of the
considered impact categories. For that a documented assumption is admissible.

For Hazardous Substances the following requirements apply:

» The Life Cycle Inventory (LCI) of hazardous substances will be included, if the inventory is available.

+ If the LCI for a hazardous substance is not available, the substance will appear as an input in the LCI of the product, if
its mass represents more than 0.1% of the product composition.

+ If the LCI of a hazardous substance is approximated by modeling another substance, documentation will be provided.

This EPD is in compliance with the cut-off criteria. No processes were neglected or excluded. Capital items for the
production processes (machine, buildings, etc.) were not taken into consideration.

Primary data were collected for every process in the product system under the control of
ASSA ABLOY Global Solutions. Secondary data from the GaBi thinkstep database were utilized. These data were evaluated
and have temporal, geographic, and technical coverage appropriate to the scope of the Builder's Hardware product category.

The data sources used are complete and representative of North America in terms of the geographic and technological
coverage and are a recent vintage (i.e. less than ten years old). The data used for primary data are based on direct
information sources of the manufacturer. Secondary data sets were used for raw materials extraction and processing, end of
life, transportation, and energy production flows. Wherever secondary data is used, the study adopts critically reviewed data
for consistency, precision, and reproducibility to limit uncertainty.

The period under review is the full calendar year of October 2016 - September 2017.

A comparison or an evaluation of EPD data is only possible if all data sets to be compared were created according to EN
15804 and the building context, respectively the product-specific characteristics of performance, are taken into account.
Environmental declarations from different programs may not be comparable. Full conformance with the PCR for North
American Builders Hardware products allows EPD comparability only when all stages of a Builders Hardware product's life
cycle have been considered. However, variations and deviations are possible.

End of Life
The end-of-life disposition is modeled as 85% recycling and 15% landfill disposal for the metal components and 100%
landfill disposal for all other materials.

Environment 8 of 15



VingCard Allure
Door Hardware m ABI-OY

Additional Environmental Information

For life cycle modeling of the considered products, the GaBi 8 Software System for Life Cycle Engineering, developed by
thinkstep, is used. The GaBi-database contains consistent and documented datasets which are documented in the online
GaBi-documentation. To ensure comparability of results in the LCA, the basic data of GaBi database were used for energy,
transportation and auxiliary materials.

The primary manufacturing processes are made by Tier 1 suppliers and the final manufacturing processes occur in
Shanghai, China. The manufacturing process in the Shanghai facility is primarily final product assembly.

Inbound Components Manual Product Automa_t|c
. Screwdriver

and Materials Assembly
Assembly

{

Installation Hardware

Distribution <:I Warehousing <:I and Packaging

Assembly

Products are delivered in a cardboard box.

Material Quantity (% By Weight)
Cardboard 100%
Other 0%
Total 100%

Transport to Building Site (A4)

Name Value Unit
Liters of fuel 38 1/100km
Transport distance 2321 km
Capacity utilization (including empty runs) 90 %
Gross density of products transported - kg/m®
Capacity utilization volume factor 1.00

Environment 9 of 15



VingCard Allure
Door Hardware m ABI-OY

The product is distributed through and installed by trained installation technicians such as locksmiths, carpenters, etc. The
installers adhere to local/national standards and requirements.

Installation into the Building (A5) Reference Service Life

Name Value Unit Name Value Unit
Auxiliary materials - kg Reference Service Life 25 years
Water consumption - m3 Estimated building Service Life 75 years
Other resources - kg Number of replacements 2 number
Electricity consumption 0.03 MJ
Other energy carriers - MJ
Waste materials at construction site 0.26 kg
Output substance (recycle) 0.20 kg
Output substance (landfill) 0.05 kg
Output substance (incineration) 0.01 kg
\?\,Z?ec,—t emissions to ambient air*, soil, and 0.07 kg CO,

*CO2 emissions to air from disposal of packaging

No cleaning or annual maintenance is required.

Operational Energy Use

Name Value Unit
Water consumption (from tap, to sewer) - m®
Electricity consumption - kWh
Other energy carriers - MJ
Equipment output - kW
Direct emissions to ambient air, soil, and K
water 9
AA battery replacements per RSL 35 number

The product can be mechanically dissembled to separate the different materials. The majority of the materials used are
recyclable. The remainder of components are disposed of according to standard municipal solid waste deposition.

End of life (C1-C4)

Name Value Unit
Collected separately 2.14 kg
Collected as mixed construction waste 1.06 kg
Reuse 0.00 kg
Recycling 214 kg
Energy recovery 0.00 kg
Landfilling 1.06 kg

Environment 10 of 15



VingCard Allure
Door Hardware m ABI-OY

The product can be moved from one location to another during the reference service life, enabling re-use.

LCA Results

Results shown below were calculated using TRACI 2.1 Methodology.

TRACI 2.1 Impact Assessment

Parameter Parameter Unit A1-A3 A4 A5 B4 B6 c1 Cc2 Cc3 Cc4
GWP Global warming potential kg CO,-Eq. | 2.5E+02 1.4E+00 3.4E-02 | 5.2E+02 | 6.7E+00 | 6.5E-03 1.5E-02 | 0.0E+00 1.2E+00
ODP Depletion potential of the kgCFC11 | 9 4e00 | 54811 | 66E-14 | 19808 | 20812 | 6.6E-14 | 5.6E-13 | 0.0E400 | 1.1E-12

stratospheric ozone layer Eq.

AP Air Ac'd'f'cat:n:igg::::a' forair {4 s0,Eq. | 1.56+00 | 20802 | 2.0-04 | 3.41E+00 | 52602 | 56605 | 8.9E-05 | 0.0E+00 | 97E-03
EP Eutrophication potential kgN-Eq. | 81E02 | 1.1E-03 | 2.96-05 | 1.7E-01 | 1.2E-03 | 7.9E-07 | 4.9E-06 | 0.0E+00 | 3.7E-03
SP Smog formation potential kg OyEq. | 3.98+01 | 57E-01 | 1.1E-03 | 8.1E+01 | 5.3E-01 | 4.4E-04 | 2.56-03 | 0.0E+00 | 3.3E-02
FFD Fossil Fuel Depletion MJ-surplus | 4.3E+02 | 2.5E+00 | 9.1E-03 | 8.8E+02 | 3.1E+00 | 4.0E-03 | 2.6E-02 | 0.0E+00 [ 3.7E-01

*All use phase stages have been considered and only those with non-zero values have been reported

Results shown below were calculated using CML 2001 - April 2013 Methodology.

CML 4.1 Impact Assessment

Parameter Parameter Unit A1-A3 A4 A5 B4 B6 c1 C2 C3 C4
GWP Global warming potential kg CO,-Eq. 2.5E+02 1.4E+00 3.4E-02 | 5.2E+02 | 6.7E+00 | 6.5E-03 1.5E-02 | 0.0E+00 1.2E+00
oDP Depletion potential of the kgR-11Eq. | 9.4E09 | 54E-11 | 55614 | 1.9-08 | 2.0E-12 | 55E-14 | 56E-13 | 0.0E+00 | 1.1E-12

stratospheric ozone layer

Acidification potential for air

AP Air emissions kg SO,-Eq. 1.3E+00 1.6E-02 1.5E-04 | 2.6E+00 | 5.5E-02 | 6.1E-05 | 7.3E-05 | 0.0E+00 3.6E-03
EP Eutrophication potential kg(PO,)*-Eq. 2.1E-01 3.0E-03 3.9E-05 | 4.4E-01 2.9E-03 | 2.2E-06 1.3E-05 | 0.0E+00 4.1E-03
Formation potential of
POCP tropospheric ozone kg ethane-Eq. 1.4E-01 1.4E-03 2.9E-05 | 3.0E-01 3.4E-03 | 6.0E-06 | 8.5E-06 | 0.0E+00 1.0E-03
photochemical oxidants
Abiotic depletion potential for
ADPE . kg Sb-Eq. 6.3E-04 6.0E-10 1.4E-09 | 2.9E-03 | 8.3E-04 | 7.2E-11 6.2E-12 | 0.0E+00 6.6E-08
non-fossil resources
Abiotic depletion potential for
ADPF MJ 3.2E+03 1.8E+01 1.3E-01 | 6.5E+03 | 7.3E+01 | 9.3E-02 1.9E-01 | 0.0E+00 2.9E+00

fossil resources

*All use phase stages have been considered and only those with non-zero values have been reported

Results below contain the resource use throughout the life cycle of the product.

Resource Use

Parameter Parameter Unit A1-A3 A4 A5 B4 B6 Cc1 Cc2 C3 C4
RPR,  |Renewable primary energy as MJ 2.1E+01 | 0.0E+00 | 3.8E-03 | 5.1E+01 | 4.5E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 2.0E-01
energy carrier
Renewable primary energy
RPRy resources as material MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
utilization
NRPRg Nonrenewable primary MJ 32E+03 | 1.8E+01 | 1.6E-01 | 6.6E+03 | 7.6E+01 | 1.1E-01 | 1.9E-01 | 0.0E+00 | 2.9E+00
energy as energy carrier
NRPRy, Nonrenewable primary MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
energy as material utilization
SM Use of secondary material kg 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
RSF Use of re“e";’j;f secondary MJ 8.2E-07 | 0.0E+00 | 0.0E+00 | 1.6E-06 | 1.8E-14 | 0.0E+00 | 0.0E+00 | 0.0E+00 [ 0.0E+00
NRSF Use of nonrenewable MJ 1.0E-05 | 0.0E+00 | 0.0E+00 | 2.1E-05 | 2.1E-13 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
secondary fuels
RE Energy recovered from MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
disposed waste
FW Use of net fresh water m? 14E-01 | 0.0E+00 | 6.3E-05 | 2.8E-01 | 2.5E-02 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 4.6E-04

*All use phase stages have been considered and only those with non-zero values have been reported

Environment 110f 15




VingCard Allure
Door Hardware m ABI-OY

Results below contain the output flows and wastes throughout the life cycle of the product.

Output Flows and Waste Categories

Parameter Parameter Unit A1-A3 A4 A5 B4 B6 Cc1 Cc2 C3 C4
HWD Hazardous waste disposed kg 21E-06 | 0.0E+00 | 1.4E-10 | 4.5E-06 | 8.6E-08 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 9.0E-09
NHWD N°“'hzzi:;‘(’)°sizwa“e kg 9.2E-01 | 0.0E+00 | 4.1E-02 | 8.6E+00 | 9.5E-02 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 3.2E+00
HLRW | High-level radioactive waste kg or m° 47E-03 | 0.0E+00 | 7.0E-07 | 1.2E-02 | 1.4E-03 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 2.5E-05
ILLRw | 'Mermediate- and low-level kgorm® | 0.0E+00 [ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
radioactive waste
CRU Components for re-use kg 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 [ 0.0E+00
MR Materials for recycling kg 0.0E+00 | 0.0E+00 | 2.0E-01 | 4.7E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 2.1E+00 | 0.0E+00
MER Materials for energy recovery kg 0.0E+00 | 0.0E+00 | 1.3E-02 | 2.6E-02 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00

Recovered energy exported

EE from system

MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 [ 0.0E+00 | 0.0E+00 0.0E+00

*All use phase stages have been considered and only those with non-zero values have been reported

Results below contain direct greenhouse gas emissions and removals throughout the life cycle of the product.

Resource Use

Parameter Parameter Unit A1-A3 A4 A5 B4 B6 C1 Cc2 Cc3 C4

Biogenic Carbon Removal

BCRP kg CO, 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00
from Product
BCEP Biogenic Carbon Emissions kg CO, 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
from Product
BCRK Biogenic Carbon Removal kg CO, 6.8E-02 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
from Packaging
BCEK Biogenic Carbon Emissions kg CO, 0.0E+00 | 0.0E+00 | 6.8E-02 | 0.0+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00

from Packaging

Biogenic Carbon Emissions
BCEW from Combustion of Waste kg CO, 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
from Renewable Sources

CCE Calcination Carbon Emissions kg CO, 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 [ 0.0E+00 | 0.0E+00 0.0E+00

CCR Carbonation Carbon Removal kg CO, 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00

Carbon Emissions from
CWNR Combustion of Waste from kg CO, 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
Non-renewable Sources

*All use phase stages have been considered and only those with non-zero values have been reported

Environment 12 of 15




Environmental Product Declaration

VingCard Allure
Door Hardware ASSA ABLOY =

According to
ISO 14025, EN 15804,
and ISO 21930:2017

LCA Interpretation

Aside from the replacement stage (B4), which considers the replacement of the product over the 75 year building lifetime,
the production life cycle stage (A1-A3) dominates the impacts across all impact categories. This is due to the upstream
production of materials used in the product, along with electricity use in the manufacturing of the product.

100%
90% mc4
80% mC3
70% mC2
60% mCl
50% mB6
40% u B4
30% B A5
0% mA4
0% mAL-A3
0%

Environment 13 0f 15



VingCard Allure
Door Hardware m ABI-OY

Additional Environmental Information

ASSA ABLOY is committed to producing and distributing door opening solutions with minimal environmental impact, where
health and safety are the primary focus for all employees and associates.

 Environmental operations, greenhouse gases (GHG), energy, water, waste, volatile organic content (VOC), surface
treatment, and health and safety are being routinely monitored. Inspections, audits, and reviews are conducted periodically
to ensure that applicable standards are met and environment management program effectiveness is evaluated.

» Code of Conduct covers human rights, labor practices, and decent work. ASSA ABLOY management is aware of their
environmental roles and responsibilities, providing appropriate training, supporting accountability, and recognizing
outstanding performance.

» Any waste metals produced during machining are separated and recycled.

There is no harmful emissive potential. No damage to health or impairment is expected under normal installation
corresponding to the intended installation of the product.

Fire
No negative environmental impact will result from exposure to fire.

Water
Contains no substances that have any impact on water in case of flood.

Mechanical Destruction
No danger to the environment can be anticipated during mechanical destruction.

Global warming potential is calculated using the TRACI 2.1 and CML 4.1 impact assessment methodologies. Delayed
emissions are not considered.

ASSA ABLOY Global Solutions works hard to minimize the environmental impacts of its business activities through various
corporate-wide sustainability initiatives. To learn more, please visit:
https://www.assaabloy.com/sv/com/sustainability/sustainability-report/

For additional information and contact information, please visit www.assaabloyglobalsolutions.com

Environment 14 of 15



VingCard Allure

Door Hardware

ASSA ABLOY

References

- PCR PartA UL Environment: Product Category Rules for Building-Related Products and Services in North America, Part A: Life Cycle
Assessment Calculation Rules and Report Requirements, v.3.2, December 2018.

- PCRPartB UL Environment: Product Category Rules Part B: Requirements on the Environmental Product Declaration for Builders Hardware,
v.1.0, November 2019.

- GaBi8 thinkstep.one. GaBi Life Cycle Assessment version 8.7 (software).

- 1SO 14025 ISO 14025:2011-10, Environmental labels and declarations — Type Ill environmental declarations — Principles and procedures.

- I1SO 14040 ISO 14040:2009-11, Environmental management — Life cycle assessment — Principles and framework.

- ISO 14044 ISO 14044:2006-10, Environmental management — Life cycle assessment — Requirements and guidelines.

- 1SO 21930 1ISO 21930:2017 — Building and Construction Assets — Sustainability in building construction — Environmental declaration of
building products.

- ULE 2013 UL Environment, General Program Instructions, 2013.

- TRACI 2.1 US EPA, Tool for the Reduction and Assessment of Chemical and Other Environmental Impacts (TRACI)

- CML 2001 Center of Environmental Science of Leiden University impact categories and characterisation methods for impact assessment
(CML)

- EN 15804 EN 15804:2012-04: Sustainability of construction works — Environmental Product Declarations — Core rules for the product
category of construction product.

- Life Cycle ASSA ABLOQY Global Solutions, Life Cycle Assessment, Sustainable Solutions Corporation, January 2020.

Assessment

- UL Environment
= Characterization
Method

= Characterization
Method

= Characterization
Method

= Characterization
Method

= Characterization
Method

UL Environment General Program Instructions, February 2018, v.2.4.

IPPC. 2014. Climate Change 2013. The Physical Science Basis. Cambridge University Press. (http://www.ipcc.ch/report/ar5/wg1/).

Hauschild M.Z., & Wenzel H. Environmental Assessment of Products. Springer, US, Vol. 2, 1998.

Heijungs R., Guinée J.B., Huppes G., Lankreijer R.M., Udo de Haes H.A., Wegener Sleeswijk A. Environmental Life Cycle
Assessment of Products: Guide and Backgrounds. CML. Leiden University, Leiden, 1992.

Jenkin M.E., & Hayman G.D. Photochemical ozone creation potentials for oxygenated volatile organic compounds: sensitivity to
variations in kinetic and mechanistic parameters. Atmospheric Environment. 1999, 33 (8) pp. 1275-1293.

WMO. 1999. Scientific Assessment of Ozone Depletion: 1998, World Meteorological Organization Global Ozone Research and
Monitoring Project - Report No. 44, WMO, Geneva.

Environment 15 of 15



